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answers A, B, C and D to each question
_The choice which you think is correct, fiil that
ront of that question with Marker or Pen inkin
the answer-book. Cutting or filling two or more ;.-__j__; S .0
will result in zero mark in that question. e
cive Kingdom classification system was intr

by: P g
(a) Schwarlz - (b) Marguls
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(c) Aristotle (d) Robert Whittaker e i e
In children, deficiency of vitamin D causes:*
(a) Osteomalacia - (b) Scurvy - =R,

(©) Night blindness- (d) Rickets ¥ S ES

(a) Prophase
(c) Telophase |
The Italian word “mala
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After birth, two types of antlbod
3 antibodies appear in the blood ser

These antibodies are present accordmg

corresponding antigen. In persons WIﬂl
antigen A is present and antigen B Is &

blood will contain anti-B antibodies. In g -*

group B, antigen B is present and antiger
their blood will contain anti-A antnbody
blood group AB antigens A & B are pre
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8- Pores through ‘which cytoplasm of adjaco
connected. | Fe o
(a) Stomata (b) Plasmodes
(c) Lenticels (d) Cuticle _~ iy
Microtubules are made of: '-f
(a) Tubulin pr otein v (b) RNA
(¢) DNA (d) Actin prote:ﬁ
In most plants, food is transported in th

(a) Glucose (b) Sucrose b H, _-

(c) Starch” . (d) Laclose . *' 5
An example of multi-cellular organism 18!* _
(@) Bacteria ' (b) Frog. v #
-(c) 'Amoeba (d) EUglena
Main photosynthetic pigment is-
(@) Chlorophyll ‘b’
(€) Carotenoids
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(b) ChIOI'Ophy" a
(d) xanthOphy"s



Paper-}
Marks: 4’

ort answers to any FIVE (5) qugstiqns: (10)
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). Write sh
e physiology and anatomy.
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Defi

jifferent parts of hvmg organisms.

For example, human populatlon m
comprises of 173.9 million |nd|v1dua|s._
Ministry of Population Welfare. Gover

Community: |
“Community is an S o

populations, interacting with one anothg“;}_:

environment.” : S
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(i) What s the difference

proportion? | Wi
XD  Dpifference between Ratio and Pre
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ryotic organisms /.e., they are made
prokaryOtIG cells form chains, clusters, or colonies

Of Ce”S-
They are unicellular, although some types.

i .ii) nescribe briefly sclerenchyma tissues.

D sclerenchyma Tissue: ' |

3§ They are composed of cells with rigid secondary cell
3 -lls. Their cell walls are hardened with ‘Iignin; which is the
~ain chemical component of wood. Mature sclerenchyrha i
$ells cannot elongate and most of them are dead.

Wil Define hypotonic and hypertonic solutions. bt
B A hypotonic solution has relatively ess solute. While
2 hypertonic solution has relatively more solute. "
.3. Write short aswers to any FIVE (5) questions: (10)
hromatin and chfomosome_s. e

Differentiate between €

called cell plate or phragmopidst.

L and more vesicles
plate fuse with plasma membran

fuse with it. Finally, membranes of cell
in the
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4 Write short answers to any FIVE (5) queé_ti g‘f _g_ 1(
R {,, 42

Define scurvy Write its two symptoms. i

> The disease known as scurvy results_f_ m
min C. In th|s condition, the syntheS|zed cgll m:u IS
of scurvy mclude musc

.q.p—q_-l...,_-q_—- — ———

How does iodine functlon in our body?t_ ‘gﬁ . £

YD |odine is essential for normal thyroid fun:_;__ ,
iii) " What is the function of peps Y
XD Pepsin partially digests the proteln ol

(bulk of mutton) into polypeptldes and shorter lide &
(iv) auses of ulcer. ,:- 3

> The causes of ul
ong-term use of antl-lnﬂammato




LUD wind carries away the evapora e | ‘
and it carries an increase I the rate of evaporation fp..

e surface of mesophyll cells. When air is still, the rg e
transpiration is reduced. _ . -
i)  Write down four name of human heart chambe s
XD The names of human heart chambers are as folg
1. Right atrium 2. Leftatium
3. Right ventricle 4. Left ventricle

(viij How pus is produced? e e
LID white blood cells die in the process of killing {
germs. These dead cells accumulate and make .thef”‘}

- Substance called pus, seen at infection sites. -
(viii) Write down two symptoms of dengué fever.
LD in dengue fever, there is sharp 'de_cr_e_as_‘e,fi%

Because of this, patient

number of platelets in blood.
bleed from the nose, gums and under the skin.
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g = mal. Haemoglobin molecule contains a single
iron at its centre. If body. fails to receive

-ufficient amounts of iron,” adequate number of
naemoglobin molecules are not formed. In this case

there are not enough tfunctioning of red blood cells.
The patient is weak and there is shortage of oxygen

supply to body's cells.
(b) Wwhat do you mean by blood groups? How dowe
" classify blood groups in terms of ABO and Rh
blood group systems? - B

@D Blood group systems: - =
Blood group systems are a classification of blood™ ==

-ased on the presence or absence of antigens on the

surface of red blood cells. An antigen is a molecule that
~an stimulate an immune response (antibody production

etc.).

ABO Blood Group System: s &
it is the most important blood group system In

umans. It was discovered by the Austrian scientist Karl
| andsteiner, who found four different blood groups (blood

types) in 1900. He was awarded the Nobjel. Prize ‘in‘ e

Medicine for his work. -ﬁ e e
-e are four different blood groups =
ach other on the basis of specific
d B) present on the s S &
aving antigen A has blood group A, e
n B has blood group B, a 1
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RBCs. A person n
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nas blood group AB, and a person

blood group O.

., anti-A &

antigen A Is presen
blood will contain anti-B-a
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group B, antigen B is pre

their blood will contain anti-A an Mo . _
blood group AB, antigens A & B are present /.., neither jg

absent. So their blood serum will contaiin no antlbOd)_/- |->~

th blo O, neither antigen A nor antiger

persons with blooa group U, = hlood Serihi

B is present i.e., both are absent. SO the_lr b.OQ Se .:a*
contain both antibodies i.e., anti-A & antl-B. ; E
Rh blood group system: ' e .
In 1930's, Karl Landsteiner discovered the Rh-bi_
System. In this system, there are two blood groups i.e
Rh-positive and Rh-negative. These blood groups ar
distinct from each other on the basis of antigens called R
tactors (first discovered in Rhesus monkey), present or
the surface of RBCs. A person having Rh factors ‘has
blood group Rh-positive while a person not having RF
factors has blood group Rh-negative. Unlike the naturally
occumng anti-A & anti-B antibodies of the ABO-system
an Rh-negative person does not produce anti-Rh
antibodies unless Rh-factor enters in his / her blood.




